VEEENERH4A

T
\

:%%4/**%:%%*/%“$Eﬁﬁw {7 7R i
ST w2

w%mﬁwﬁw
A A % 1 A8 =0 2004/0 | 2005/0 | 2006/0 | 2007/0
5 6 7 8
(WﬁﬂﬁEﬁwm$§L§ﬂ
%F‘J‘[Jigfﬁ ngn
[ TR
(j'HFERE)
F%ﬁ@%?%
; /ﬂ kv /u/—)‘r /i
? Ir 2 7 ) *
pl1 s = Fl 699 600 524 360
= E E'ﬁu 138 130 130 130
548k FUH
(5 )
pl1 s = Bl 402 375 349 349
= E E'ﬁu 279 351 377 377
= 1 518 |1 4561 3801 216
':[2 'j:g&% Eill
r}‘@l% @
(J'HFFE)
(AT
;,;r/ﬁ 3 ;r/z}
;ﬁ%//vﬁmx
Fl1 2% éﬁﬁéﬁu 480 580 580 600
= 4ﬁ§§ﬁu 136 150 150 150
242k FA
(FF 5L )
FlT 25 I%W 117 111 111 111
| T il 183 138 138 138
Y Eﬁiﬁu 45 45 45 45
(= 961 | 1 024 |1 024 |1 044
E 2 479 |2 480 | 2 404 | 2 260
Ej%fﬁéﬁ%%%%az fli e T il 440 350 350 350
=

BRSPS EY S RSMENYES P A

YR 22 W) LR CH e



i ¥

PERBE PSRBT U S SR YRS

R/ FHYERIE - FIPHPER RS

&

T TR S R ]
A oo

FEETFWH S FE SFIFDFFN S FIFE Y
U A2 B HE - W OB R A R R
BRI R RR o 2 [ ST B
HHAF > D FFN FDFE OGS FE T 208
Bo32.5 BAREES 2 PURIE S S e g B B R R AT
Bl s @) s - (S FHED S FLFEE DA

A G

SRS LT B o PR E TR A e A

%;Fm Fl F[fj st }*FII E| ETFI?‘D - B s :j:"sr?’ﬁj\ EEr N if’r?’ﬁj\ B'j?“j’ﬂzf'r:’g]

e
:4

F

Fl oo



